Government of Jammu and Nastumi

OFFICE OF THE SUPERINTENDING ENGINEER,

JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE

Member Secretary District Jal Jeevan Mission Baramulla/Bandipora Email:sehydbla@gmail.com

M/5:- Mohamad Amin Ahanger

\$/o:- Mohd Ramzan Ahanger

R/o:- Asham Sonawari GST No: - 01 AILPA6482F1 ZL

Regd No: R-56/AYY/CE/CID/PDC/2010-11.

Advertised Amount: ₹155.48lac

Allotted Amount:- ₹1,61,70,311.00

Major Head:-4215-JJM

Time of completion: 120days

Account No: Mobile No:

[ORDER No: 22/SE/HYD/SPR/JJM of 2023-24] Dated: - 10 /06/2023.

Subject: Fixation of Contract for:

Construction of Sluice Chamber, Carriage Way, Anchor, Crate, Pre-Settling Tank, Collection Chamber and other allied works for W.S.Scheme Shraqwara under JJM. (Tender ID:2022_PHE_168403_2)

Reference:

- Executive Engineer Jal Shakti (PHE) Division Sopore's fresh e-NIT No: 04/JJM/JSDS of 04/2023 1. Dated: - 08-04-2023 issued under endorsement No: 336-47 dated: 08-04-2023.
- Revised District Action Plan of District Baramulla approved by DJJM vide no: DDCB/3929 dated: 30-07-2022.
- Minutes of Meeting held with District Development Commissioner Baramulla (Chairperson DDJM) on 23/5/2022 minutes issued vide letter No DDCB/Meeting/2022/1214-44 Dated: 24/5/2022 and No DDCB/2022/ 1248-70 Dated: 26/5/2022 thereafter vide letter No. DDCB/ 2022/1725-28 Dated 04/06/2022.
- Administrative Approval Accorded by Chief Engineer Jal Shakti (PHE) Department Kashmir vide Order No: CE/PHE/DB/JJM/241 of 08/2022 Dated: 31-08-2022.
- Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No:-CE/PHE/DB/227 of 08/2022 Dated: 31-08-2022.
- Minutes of Meeting of District Contract Committee circulated vide No: SE/Hyd/JJM/2288-2302 dated: 02-06-2023.
- Amendment in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated: - 21-06-2022.
- Modus operandi communicated by Chief Engineer PHE Kashmir Vide circular No CE/PHE/MC/DB/13745-83 Dated: - 26-07-2022.

Dear Sir,

For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract for above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you on Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions as laid down in the Annexure "B" of this allotment Order. The total cost of work shall be ₹1,61,70,311.00 (One Crore Sixty-One Lac Seventy Thousand Three Hundred and Eleven Only).

No:- SE/HYD/JJM/2767-81

Dated:- 1D /06/2023

Superintending Engineer Hydraulic Circle Baramulla/Bandipora H.Q Sopore

Copy to the: -

- 1. Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour information.
- 2. District Development Commissioner Baramulla (Chairperson DJJM) for favour of information.
- 3. Additional District Development Commissioner Baramulla (Member DJJM) for information.
- 4. Assistant Commissioner Development Baramulla (Member DJJM) for information.
- 5. Divisional Forest officer Baramulla (Member DJJM) for information,
- 6. Chief Planning Officer Baramulla (Member DJJM) for information.
- 7. Chief Medical Officer Baramulla (Member DJJM) for information.
- 8. Chief Educational Officer Baramulla (Member DJJM) for information.
- 9. District Social Welfare Officer Baramulla/District Tribal Welfare Officer Baramulla (Member DJJM)
- 10. District Information officer Baramulla (Member DJJM) for information,
- 10. District information and 11. Executive Engineer Jal Shakti (PHE) Division Sopore (Member DJJM) for information and
- 12. Executive Engineer Jal Shakti PHE Mech. Division North Sopore (Member DJJM) for information. 13. Executive Engineer Ground Water Division Srinagar (Member DJJM) for information
- 14. WAPCOS Limited Baramulla for information and necessary action.
- 15. File Concerned.



Construction of Sluice Chamber, Carriage Way, Anchor, Crate, Pre-Settling Tank, Collection Chamber and other allied works for W.S.Scheme Shraqwara under JJM. (Tender ID:2022_PHE_168403_2)

		Annexure "A" with Order No: 22SE/HYD/JJM of	2023-	24 Dated	:- 10 -6-2	023
S. No.	7	rem percubion	Units	Quantity	Alloted Rate	Amount
1	width excava	work in excavation by manual means over areas ing 30cm and up to 1.5mtr in depth, 1.5mtr in as well as 10 sqm on plan) including disposal of ted earth upto 1mtr from cutting edge disposal to be leveled and neatly dressed.	Cum	520.54	₹ 560.92	₹ 2,91,983.38
	2 exceed 10sqr 1 mt neat	work in excavation by mech, means over areas { ding 30cms and upto 1.5 mtr in width as well as m in plan } including disposal of excavated earth upto r. For cutting edge, disposal earth to be levelled and ly dressed.	Cum	209.56	₹ 196.30	₹ 41,136.63
	P/F nece was sor the	Of 10mm thick MS Flanges To 200mm Dia GI Pipe at essary Spots Including cost of flanges, nuts, bolts, sher, welding charges, cutting of threaded portion, all its of carriages and including the deduction of cost of a threaded portion and excluding laying of pipe in pipe enches.	Joint	10.00	₹ 2,496.00	₹ 24,960.00
and see	4 Pro IS	oviding and fixing C.I Sluice valve of standard quality of mark reputed make, havey duty incld. cost of flanges uts, bolts tail pieces and all other fittings complete ob. 100 mm dia. incld. all carriages	Each	2.00	₹ 24,960.00	₹ 49,920.00
	5 II	Providing and fixing C.1 Sluice valve of standard quality SI mark reputed make, havey duty incld. cost of flanges nuts, bolts tail pieces and all other fittings complete Job. 150 mm dia.incld. all carriages	Each	1.00	₹ 42,640.00	₹ 42,640.00
		Providing and fixing C.1 Sluice valve of standard quality ISI mark reputed make, havey duty incld. cost of flanges nuts, bolts tail pieces and all other fittings complete	Each	2.00	₹ 53,040.00	₹ 1,06,080.00
1	7	Job 200 mm dia incld, all carriages Hand-packing stones in wire-crates; including cost of stones but excld cost of crates as per directions of site Engineer incharge complete	Cum	452.88	₹ 829.35	₹ 3,75,595.12
	8	Supply, stacking and spreading including cost of crate mesh, inculding carriage at site of work complete job as per directions of site Engineer incharge complete.	Sft	19,738.00	₹ 27.04	₹ 5,33,715.52
	9	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	Cum	81.26	₹ 206.65	₹ 16,792.22
1	10	Providing and laying of dry Stone soling in horizontal or	Cum	88.87	₹ 849.06	₹ 75,455.61
É	11	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with 1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size)	Cum	31.84	₹ 5,056.30	₹ 1,60,992.69
	12	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level. 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm noming size)	di Cum	7.21	₹7,257.82	₹ 52,328.86
The state of the s	13	Providing and laying in position cement concrete of specified grade excluding the cost of centring an	d Cum	20.52	₹6,723.80	ŧ 1,37,972.33
	14	Providing and laying in position specified grade of reinforced coment concrete including curing but excluding the cost of centering, shuttering, finishing an reinforcement. All works upto plinth level. 1:1½:3 (cement : 1½ coarse sand : 3 graded stone aggregate 2 mm nominal size)	d Cum	101.13	₹ 8,112.79	₹ 8,20,446.49



Technical Officer

Superintending Engineer

Construction of Sluice Chamber, Carriage Way, Anchor, Crate, Pre-Settling Tank, Collection Chamber and other allied works for W.S.Scheme Shraqwara under JJM. (Tender ID:2022_PHE_168403_2)

. 1	Annexure "A" with Order No: 14SE/HYD/JJM			Alloted Rate	Amount
la l	Item Description	Units	Quantity	Anoteu Race	and the same and the same of t
5 in	Reinforced cement concrete work in walls (any thickness including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, post and struts upto floor five level including curing but excluding cost of centering shuttering, finishing an reinforcement. 1:14:3 {1 cement: 14 course sand: graded stone aggregate 20 mm nominal size}	g s it Cum	132.80	₹ 9,784.46	t 12,99,375.65
16	Reinforced cement concrete work in beams, suspender floors, roofs having slope upto 15°, landings, balconic shelves, chajjas, lintels, bands, plain window sill the concrete training story and private training story and	s, s, Cum g,	26.57	₹ 10,243.31	₹ 2,72,164.84
1	Providing and laying in position cement concrete specified grade including curing but excluding the cost centring and shuttering. All work upto plinth le with:1:3:6 [1 cement: 3 coarse sand: 6 graded sto	of of cel Cum	153.09	t 5,614.98	₹ 8,59,597.41
-	Centering and shuttering including strutting, proppi	ng	121.89	₹ 272.79	₹ 33,250.62
-	of columns etc. for mass concrete. Centering and shuttering including strutting, proppeter. etc. and removal of form for: Walls (any thickney including attached pilasters, buttresses, plinth and structures)	ng ss) Som	2,299.24	₹ 596.80	₹ 13,72,195.63
-	Centering and shuttering including strutting, propp	ing	7.30	₹ 522.96	₹ 3,817.64
	centering and shuttering including strutting, propping and removal of form for. Columns, pillars, pill	ing	16.80	₹ 707.36	₹ 11,883.58
	abutments, posts and struts. Centering and shuttering including strutting, proppeter. etc. and removal of form for: Suspended floors, rollandings, balconics and access platforms.	ing	113.95	₹ 661.02	₹ 75,323.68
	Steel reinforcement for R.C.C. work include straightening, cutting, bending, placing in position and placing all complete above plinth level. There	and ka	25,283.80	₹ 90.67	₹ 22,92,411.35
	Mechanically Treated bars 12mm Cement plaster of mix: 1:4 (1 cement: 4	fine Sqn	225.40	₹ 297.49	₹ 67,054.70
	sand) 12mm thick cement plaster finished with a floating cost 12mm thick cement plaster finished with a floating cost 12mm thick cement plaster finished with a floating cost 12mm thick cement plaster finished with a floating cost	t of	860.33	₹ 372.31	₹ 3,20,309.12
	Extra for providing and mixing of water proofing mate in cement concrete work in doses by weight of cemen	rial as Kg	1,592.00	₹ 60.31	₹ 96,012.88
	27 per manufactures specifications. Structural steel work in built up sections, trusses framed work,including cutting, hoisting, fixing in posi and applying a priming coat of approved steel prime.	and tion all	17,530.00	₹ 106.22	₹ 18,61,952.46
	Providing and fixing of 6mm thick MS bends/To langes etc as per requirement at site including fixin 10-12mm thick flanges all sorts of carriages upto sit work and welding of flanges etc complete job.	e of Kg	871.52	₹ 187.20	₹ 1,63,148.54
	Providing and fixing of MS lid of size1m x 1m 50x50x6mm angle section with 3mm thick MS including all locking arrangements handles etc all workspanning to the complete in the	lid k as	1.00	₹7,280.00	₹ 7,280.00
	Steel work welded in built up sections/ framed wincluding cutting, hoisting, fixing in position and appl a priming coat of approved steel primer using struct steel etc. as required. In gratings, frames, guard ladder, railings, brackets, gates and similar works.	ying ural	548.40	₹ 152.50	₹ 83,628.37
1	Providing andincorporating during constt. of PGI s	heet	tr 166.80	₹ 208.00	₹ 34,694.40

Head Draftsman

Superintending Engineer

Construction of Sluice Chamber, Carriage Way, Anchor, Crate, Pre-Settling Tank, Collection Chamber and other allied works for W.S.Scheme Shraqwara under JJM. (Tender ID:2022_PHE_168403_2)

. 1	Annexure "A" with Order No:22SE/HYD/JJM	1 of 202	3-24 Date	ed:- 10 -6	.2023
Na.	Hem Description	Units	Quantity		
,	Removal of chocked filter media beds using buckets an	dinis	- Quantity	Anarca Rate	Amount
	The state of the s	d Cum	102.63	₹ 2,600.00	₹ 2,66,838.00
			102.05	1 2,000.00	, 2,00,000
3	Providing, stacking , laying of new filter media as per grad		 		
			76.65	₹ 7,280.00	₹ 5,58,012.00
1	william built up enotional f	:	 	+	
34	S STATISTICISTING INVINCTING TO THE STATE OF		17,539.00	₹ 119.26	
	The state of appropriate steel primes with a state of	. 1 (₹ 20,91,645.0
	steel etc. as required. In stringers, treads, landings etc. of	Kg			
	the cases, lifelliding ties of chemiared plate wherever	"]			
	the state of the complete	1			
~ =	P/F of 80mm dia pvc under drainage system with required	1			
35	perforation and specified make of 1.5 kg/m with end caps	Mir	2,40	₹ 624.00	₹ 1,497.60
		1			
36	Providing ad installations of 65mm equal tee with ed cap-	Each	50.00	1210.00	7 15 600 00
_	lunder drainage	Bach	50.00	₹312.00	₹ 15,600.00
	Providing and fixing hand rail of approved size by welding	3			
37	etc. to steel ladder railing, balcony railing, staircase				
31	praining and similar works, including applying priming coal	Kg	58.60	₹ 197.80	₹ 11,590.94
	of approved steel primer. M.S. tube				
	Finishing with Epoxy paint (two or more coats) at all				
	locations prepared and applied as per manufacturer's				
38	specifications including appropriate	Sqm	130.05	3 106 25	3 05 710 00
	priming coat, preparation of surface, etc complete. On	Squ	130.95	₹ 196.35	₹ 25,712.29
	isleet_work	1 1			
	Carriage of Materials by Mechanical transport from				
39	different sources to nearest dumping site of work				
	including loading, unloading				
39	1 Cement & steel for avg. lead 15kms	M.T	281.89	₹315.79	₹ 89,016.80
39	2 Stone soiling for avg. lead 10kms	Cum	88.87	₹ 343.63	₹ 30,538.08
20	3 Sand & 20mm agg for avg. lead 20kms	Cum	484.35	₹418.38	₹ 2,02,643.13
	4 40mm stone agg, for avg, lead 20kms	Cum	161.96	₹ 454.78	₹ 73,656.43
4	Carriage by manual labour from dumping site upto actual site of work for an av lead of 500 mtrs				,,,,,,,
40	1 Cement	17.5			
40	2 Steel	M.T	98.94	₹ 369.81	₹ 36,589.36
40.	3 Stone soiling	M.T	22.76	₹ 630.19	₹ 14,343.08
40.	4 Sand & 20mm agg.	cum	48.65	₹ 760.03	₹ 36,975.56
40.	5 40mm stone agg.	Cum	317.75	₹ 646.05	₹ 2,05,281.75
41	Carriage by manual labour from dumping site upto actual		21.44	₹ 698.41	₹ 14,973.95
11 1	site of work for an av.lead of 1000 mtrs				
	Steel	M.T	33.68	3602.00	
1.3	Stone soiling	M.T	17.43	₹ 603.86	₹ 20,337.84
1.4	Sand & 20mm agg.	cum	25.15	₹1,028.70	₹ 17,930.16
1.5	40mm stone agg.	cum	68.89	₹1,319.16	₹ 33,176.79
1.6	Head load of stones from various pockets of Nallah	Cum	136.25	₹1,121.34	₹ 77,249.00
1.6 Head load of stones from various pockets of Nallah Cum 452.88 ₹ 1,319.16 bolders for an avg. lead of 1000mtrs					₹ 1,65,164.10
	₹ 5,97,419,73				
		₹ 1,61,70,31 nd Eleven On			
-					

Technical Officer

SuperIntending Engineer Hydraulic Circle Baramulla/Bandipora

H.Q Sopore



Government of Jammu and Kashmir

OFFICE OF THE SUPERINTENDING ENGINEER.

JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora

Email:sehydbla@gmail.com

Annexure "B" with ORDER No: 22/SE/HYD/SPR/JJM of 2023-24

Dated: - 10 /06/2023.

Terms and Conditions

1. The work is executed strictly as per approved design / drawing, specifications and JJM Guidelines. Any deviation or change in proposal/location is subject to the prior approval from the competent authority.

2. The Executive Engineer will draw the formal agreement with the contractor within 07 Days from

the date of issuance of this allotment order.

3. The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the executing agency/contractor.

4. The execution of work shall be subject to check by the third-party monitoring agency (TPIQM)

appointed by the Department.

5. The date of start of the work shall be reckoned from 07days of issuance of LOI/Allotment

6. The executing agency/contractor shall be bound for satisfactory performance of the work for 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of 03 months to the best satisfaction of the department.

7. The Defective Liability Period shall be for a period of 12 Months which shall commence

after the successful completion of the Trial Run.

8. No liability should be created on this account. The total cost of work shall in no case exceed beyond of ₹1,61,70,311.00 (One Crore Sixty-One Lac Seventy Thousand Three Hundred and Eleven Only).

9. The circular instructions issued by Chief Engineer Kmr, Jal Shakti (PHE) Department Srinagar

from time to time regarding use of MS flanges be strictly adhered to.

10. In case the contractor fails to execute the work, the work shall be put to fresh tenders on the risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against the

11. The time of completion of the work is reckoned 120-Days (One Hundred Twenty Days) as per

the condition laid down in the e-NIT.

- 12. The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 24 Months, which shall be released after successful fulfilment of the laid down conditions in SDB/e-Nit
- 13. Geo Tagged Photographic evidences of the work, pre-execution, during execution and post execution should be maintained by the agency on his own expenses.
- 14. The executing agency/contractor must execute the work as per the requirements/ specifications detailed in the relevant/applicable IS codes.
- 15. The tests for concrete and allied materials shall have to be carried out at reputed institute as per directions of Engineer in-charge and the charges for the same shall have to be borne by the executing agency/contractor.
- 16. All Environmental norms, labour laws and all other guidelines issued by competent authorities shall be followed in letter and spirit
- 17. All other terms & conditions as I aid down in the standard bidding document, PWD form-25, GFR-2017 and manual of procurement of works 2022 shall remain in force.

Head Draftsmar

Technical Officer

Superintending Engineer Hydraulic Circle Baramulla/Bandipora H.Q Sopore.

Allotraent IIM Alian What